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MUST warning code list

Please change “Decimal/Denary system” to “Binary system”, EX:
LCD shows warning code 1 = 8193
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0010 0000 0000 0001 (“Input N loss” and “EPQO")

Warning code 1:

XXXX XXXX XXXX XXXX

X=0or1
Bit1: 1: EPO Active 0: Default
Bit2: 1: OverLoadFail 0: default
Bit3: 1:  CommCankFail 0: Default
Bit4: 1: OverlLoad 0: Default
Bit5: 1: BatOpen 0: Default
Bit6: 1: OverCharge 0: Default
Bit7: 1: EepromkFail 0: Default
Bit8: 1:  TurnOnAbornaml 0: Default
Bit9: 1:  ChargerFail 0: Default
Bit10: 1: CantDoAutoCalibration  0: Default
Bit11: 1: FanlLock 0: Default
Bit12: 1: LinePhaseErr 0: Default
Bit13: 1: BypassPhaseErr 0: Default
Bit14: 1: Input N Loss 0: Default
Bit15: 1:  CommSynSigFail 0: Default
Bit16: 1:  CommSynPulseFail 0: Default
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Warning code 2:

Bit16 bitl

XXXX XXXX XXXX XXXX

X=0orl
Bitl: 1: CommMaleDisconnectFail 0: Default
Bit2: 1: CommFemaleDisconnectFail 0: default
Bit3: 1: BypassFreqgError 0: Default
Bit4: 1: CommbDisconnectFail 0: Default
Bit5: 1: Charger Positive Output Fail 0: Default
Bit6: 1: Charger Negative Output Fail 0: Default
Bit7: 1: Charger Short 0: Default
Bit8: 1: Phase R Positive PFC Fail 0: Default
Bit9: 1: Phase R Negative PFC Fail 0: Default
Bit10: 1: Phase S Positive PFC Fail 0: Default
Bit11: 1: Phase S Negative PFC Fail 0: Default
Bit12: 1: Phase T Positive PFC Fail 0: Default
Bit13: 1: Phase T Negative PFC Fail 0: Default
Bit14: 1: Positive BatOpenUnderBkMode 0: Default
Bit15: 1: Negative BatOpenUnderBkMode 0: Default Bit16:
Bit16: 1: Bypass NLoss 0: Default



